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11.‘_ j'e,"‘ -cosxdx » LI

(A)%-tan”‘§+10 (B)sin"g-+10 (C)%-sec"—;i+lzg (D)cos"§+10—% (B b5

6. Rimx=~1, x=2, y=e“fiy=¢  FEGHBIER: A +e +ete’ @ +eltetre -4
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7. tE f(x) = sin x ZEE R [%-’25} ;2 ZRi5 i (average value)Es : (A)— 2 (3)12_2— ((:)3-1z D)2V2z (B L9k

8. MR f(x)=V3x+2fIEMR Yy =0, x=1Kx=2 FilgiRz@i  $x m%ﬁﬁ(revolviﬁg about the x-axis)F7#5 Hel¥Re < MR
(volume of a solid of revolution)£S (A)_l_32_7£ B)107 (C)%(V 512 -V125) (D) %72' (BE)L 53k

9. BhEg f(x)=1-x" 7FER [O, 1] o ¥ ¥ BlifE#¥(revolving about the y-axis)E 15 EHE < K #E(surface of revolution)fS
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11a. FlRI5ERT# S (integration by parts) » #3 Ie" -cosx dx =(A)—;-e’(sinx—cosx)+C (B)—;—e"(sinx—cosx)+C
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'125‘%p>0, p#l »3HE rx—pdx=?

122. B0 < p <l i BRE : (AFH(divergent) (B)O (O)1 (D) —11; BE)AL&IE

12b. % p>1 B RS - (A)BEk(divergent) (B)% ©)In(p) '(D);'l_'_'l" E)ALEIE
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150. Gl z=-y' +4xy-2x" + L, BUFAIE R EEG B (critical points) * (x,y) =
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16a. ﬁﬁﬁfﬁiﬁz—ﬁjﬁﬁ@(general solution)5% : (A) W = 00152(486t - -é—tz) +C (B) W =486+ Ce
W =0.0152¢ In(f —486) + C (D) = 0.0152¢ + Cln(t +486) (Bl L4

32

16b. B3 W(0)=32 kg » R RifR (particular solution)£ : (A) W = 0.0152¢ + 25 In(t + 486)
(B)W =0.0152¢ In(t — 486) + 32 (C)W =486~ 454¢ "% (D) W =0.0152(486¢ - 117) +32 (B)LA 1453k
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(A)454 (B)% (OFFEFA  (D)486 (B)LA LI
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17b. & FE S ¥IReE: (initial condition)E y(1) = 0 » 4§ FIfZ(particular solution)£ :  (A) y=—1n(—(—x-i;—)
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l®yy=c > - (C)y'=-§(x+2)’-ey—9 (D)y=§(x+2)’-ey+<x+2)2-e’-18 B

| 18. —-Bﬁﬁﬁfﬁﬁ}jﬂiiﬁ y'+y-tanx=cos’x Z—H&fE (general solution)ts :
1(A)y =Incosx-(cotx+C) (B)y=secx(cosx+C) (C)y=e**(tanx+C) (D)y=cosx(sinx+C) (E)A LB
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